To Whom It May Concern:

I am writing this letter in regards to a denied claim that originally was issued on August 22, 2016. I would like to appeal the decision and request a hearing to discuss this case. Thank you

Disciple Abb Hall P.O. Box 12665 Milwaukee, WI 53212 414-254-9354

2017 JAM 27 A II: 2

My name Disciple: AB Hall Mailing address PO Box 12665, Milwaukee, Wisconsin 53212 August 27,2016

RECEIVED

AUG 3 0 2016

OFFICE OF CITY ATTORNEY

On August,22, 2016
I was Headed eastbound on North Avenue the 4601 block

About 3:30 PM I hit a deep hole.

And my Front end of my truck went out of wreck.

On August 24 when I had to Drive my truck to Waukesha Wisconsin on the highway it was shaking like crazy so I had to get off the highway and take the street to my destination.

It's a must I have to be there in Waukesha Wisconsin every Monday Wednesday and Friday I must be there no exceptions, so I took my truck in to get it looked at August 25 and my idle arm and ball joint need to be replace the mechanic told me all would have to be repaired before this truck would be safe to drive on the streets

I can't pay for these types of repairs. Because what the streets have done to my truck, I have hit so many Holes but this particular Deep hole cause a lot of damage.

I have the truck for my personal needs and to run errands to make ends meet I receive enough money to barely pay my bills and to survive legally.

Sincerely

Disciple: Ab Hall



ANDREW Toyota Scion 1620 W. Silver Spring Drive Glendale, WI 53209 Tel #: 414.228.1450





CELL: 414-254-9354

| www.AndrewAulomotive.com | | | | | JELE. TITLET |
|---------------------------------------|-------------------------|-----------------|---------|--------------|----------------------|
| | CUST, P. O. NO SHIP VIA | A PAY | SOLD BY | INVOICE DATE | INVOICE NO. |
| .148140 | 899804 | CASH | 1998 | 08/25/16 | PQ9727 TOR |
| ♥ 414-254-9354 B T C DISCIPLE HALL | | S H T I O | | | |

DISCIPLE HALL PO BOX 12665

| | M: | LLWAUKE | EE, WI 53212-0665 | | | | | |
|--------|------------------|-----------|--------------------|---|-------------------------|--------------------------|----------------------------|----------------------------|
| SHIP | OTV | B. O. QTY | PART NUMBER | R / DESCRIPTION | BIN | (LIST | NET | AMOUNT |
| Shills | 1 | 0 | | JOINT-ASSY, UPR BA | 025 | 90.13 | 90.13 | 90.13 |
| | 1 | 0 | нто 45460-39505 | ROD ASSY, TIE, RH | | 140.16 | 140.16 | 140.16 |
| | 2 4 2 2 | . 0 | 90117-14062 | SHACKLE KIT, RR S BOLT, U PIN KIT, RR SPRIN | SPORD SPORD SPORD | 146.08 39.07 99.66 | 146.08 39.07 99.66 | 292.16 156.28 199.32 |
| | 2 | Č | 48210-34091 | SPRING ASSY, RR | SPORD | 830.68 | 830.68 | 1661.36 |
| | | | нто | | | | - | |
| | | * | | | | | | |
| | | | | | |]] | SUBTOTAL | 2539.41 |
| | | | | | | RI | ESTOCK CHARGE | 0.00 |
| | | | | | | | TAX | 142.21 |
| | | | ų Ų | | | F | FREIGHT PAY THIS AMOUNT | 2681.62 |
| CU | CUSTOMER COPY | | | | | | | |

DISCLAIMER OF WARRANTIES

Any warranties on the product sold hereby are those made by the manufacturer. The seller hereby expressly dis-claims all warranties, either express or implied, including any implied warranty of merchantability or fitness for a particular purpose, and the seller neither assumes nor authorizes any other person to assume for It any liability in connection with the sale of said products. Any limitation contained herein does not apply where prohibited by law.

No Refunds Without This Invoice.

No Returns After 5 Days.

15% Handling Charge On All Returned Parts.

No Returns on Special Order Items or Electrical Parts.

** PRICE QUOTE **
CUSTOMER COPY. DIRECT LINE: (414) 228-1192 or 1-800-735-8495 / DIRECT FAX: (414) 228-6230 ** PRICE QUOTE **
NET505

PARTS INVOICE **Customer Copy** RECEIVED AUG 3 0 2016 OFFICE OF CITY ATTORNEY Somosperal/ SOUTHWASSELLING. THICK MY ALL PARTS DEPT. TIME THACH LABOR FLAGS RETURN CALL TIME REPVICE ADVISOR MATS SPECIFIER Description ... 5

WJ Kuhn Automotive & Collision Center

Date: 08/25/2016 14:35:15

Customer: Disciple Hall

Home: 414-254-9354

RECEIVED

PO Box 12665 Milwaukee Wi 53212

Mobile:

AUG 3 0 2016

Work:

OFFICE OF CITY ATTORNEY

Email:

For: 1996 Toyota T100 3.4L Eng Base

| TYPE | DESCRIPTION | PART# | QTY | PRICE | RATE | HOURS | LINE TOTAL |
|-------|--|-----------------|-----|----------|---------|-------|------------|
| Labor | BALL JOINT - Remove & Replace [DOES NOT include alignment.] 4WD One Side,Upper (2.9) | _ | - | - | \$85.00 | 5.8 | \$493.00 |
| Labor | BALL JOINT - Remove & Replace [DOES NOT include alignment.] Lower,One Side (2.4) | _ | - | - | \$85.00 | 4.8 | \$408.00 |
| Parts | BALL JOINT 4WD Lower,Left | 43340- 39245 | 1.0 | \$78.37 | - | - | \$78.37 |
| Parts | BALL JOINT 4WD Lower,Right | 43330- 39835 | 1.0 | \$78.37 | - | - | \$78.37 |
| Parts | BALL JOINT 4WD Upper,Left | 43360- 39085 | 1.0 | \$78.37 | - | - | \$78.37 |
| Parts | BALL JOINT 4WD Upper,Right | 43350- 39085 | 1.0 | \$78.37 | - | - | \$78.37 |
| Parts | IDLER ARM 4WD | 45490- 39375 | 1.0 | \$115.39 | - | - | \$115.39 |
| Parts | PITMAN ARM - [For Land Cruiser Model FJ40, Excludes Wagon, Refer to Drag Link End.] 4WD | 45401- 35240 | 1.0 | \$160.93 | - | - | \$160.93 |
| Labor | PITMAN ARM - Remove & Replace 4WD | - | - | - | \$85.00 | 0.9 | \$76.50 |
| Labor | IDLER ARM - Remove & Replace [DOES NOT include alignment.] 4WD | - | - | - | \$85.00 | 0.7 | \$59.50 |
| Labor | TIE ROD &/OR END - Remove & Replace [Includes: Adjust toe-in only. NOTE: Deduct .4 if alignment is also performed. NOTE: Manufacturer recommends removal of Rack and Pinion Steering Gear when replacing Inner Tie Rod End(s) on some models. If removal of the Rack and Pinion Gear is necessary, use Steering Gear (Complete) - R&R plus | - | - | - | \$85.00 | 1.8 | \$153.0 |

| | combinations.] 4WD,Recirculating Ball Type Gears All Four | | | | | | f |
|-------|---|-----------------|-----|----------|---|---|----------|
| Parts | TIE ROD END 4WD Outer, Tie Rod Ends, Each | 45046- 39385 | 2.0 | \$54.83 | | - | \$109.66 |
| Parts | TIE ROD END 4WD Tie Rod Assembly,Each | 45460- 39505 | 2.0 | \$140.16 | - | - | \$280.32 |
| Parts | Alignment | | 1.0 | \$79.99 | _ | - | \$79.99 |

Estimates are an approximation of charges to you, and they are based on the anticipated details of the work to be done. It is possible for unexpected complications to cause some deviation from the estimate. If additional parts or labor are required you will be contacted immediately.

| TOTAL: | \$2,428.56 |
|----------------------|------------|
| Parts Taxes: | \$59.35 |
| Labor Taxes: | \$69.44 |
| Hazardous Materials: | \$0.00 |
| Shop Supplies: | \$50.00 |
| Parts: | \$1,059.77 |
| Labor: | \$1,190.00 |

Customer Signature:

8511 South Howell Ave. Oak Creek, WI 53154 414-762-7900
www.wjkuhn.com
REC
Be sure to visit us on Facebook

RECEIVED

AUG 3 0 2016

OFFICE OF CITY ATTORNEY

CIFY OF MILHAUKEE 2016 AUG 29 AM 11: 58 CITY CLERK'S OFFICE